’6 @ % @ Kerro desimaalit kymmenen voimalla

Nimi: Piivimadrd: __ Pisteet: ____
6,575 x 1000 = 1,516 x 10000 =
1,375 %100 = 10, 338 x 1000000 =
3,598 x 100 = 8,141 x 10 =
7,453 x 100 = 3,769 x 10000 =
7,868 x 10 = 10, 594 x 100 =
3,831 x 1000 = 9,893 x 10000 =
1,702 x 1000000 = 2,66 x 1000000 =
8,551 x 1000000 = 6,351 x 100000 =
1, 704 x 100000 = 9,09 x 100000 =
7,002 x 1000000 = 9,287 x 100000 =
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/b @ % @ Kerro desimaalit kymmenen voimalla

Nimi: Piivimadrd: __ Pisteet: ____
6, 575 x 1000 = 6575 1,516 x 10000 = 15160
1,375 %100 = 137.5 10, 338 x 1000000 = 10338000
3,598 x 100 = 359.8 8, 141 x 10 =81.41
7,453 x 100 = 745.3 3,769 x 10000 = 37690
7,868 x 10 = 78.68 10,594 x 100 = 1059.4
3,831 x 1000 = 3831 9, 893 x 10000 = 98930
1,702 x 1000000 = 1702000 2, 66 x 1000000 = 2660000
8,551 x 1000000 = 8551000 6,351 x 100000 = 635100
1, 704 x 100000 = 170400 9, 09 x 100000 = 909000
7,002 x 1000000 = 7002000 9,287 x 100000 = 928700
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